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General Instructions :
The question paper comprises of two sections, A and B. You are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. During
this interval you are not to write any thing on the answer book.
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SECTION - A

Define S.I unit of work ? 1
Name the type of energy possessed by a raised hammer ? 1
What are the resourses available on earth for life to exist ? 1
Give the name of two air pollutants ? 1

Calculate mass of 3.011 X 1023 number of nitrogen atoms ( Atomic Mass of N =14 u)? 2

Write two peculiar characters of sponges ? 2

Why is it easier to swim in sea water than in river water ? 2

(a) Which wave property determines 2
(1) Loudness (2) Pitch

(b) How are wavelength and frequency related to speed of sound waves ?

Give two main causes of soil erosion ? 2

If the symbolic representation of an atom is gX , What is its valency, name and also give

1/ 4 5=
the reason for the valency? /2+1.5=2
Why are bats not placed in birds ( Two Points) ? 2
Differentiate between density and relative denisty ? 2
(a) What is Green House Effect ? 2
(b) Name compounds causing depletion of Ozone layer ?

Calculate:- 1.5+1.5=3
(1) Number of molecules in 90g of H, ?

(2) Number of moles in 19g of H,O, ?

How do Aves differ from mammals ? ( three points ) 3
What are two approaches to treat any infectious diseases ? 3
(a) If the speed of a particle is doubled, what will be the new kinetic energy ? 2+1=3

(b) A spring is compressed, what change is expected in the potential energy of the
spring ?
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What is an echo ? Why do we not get echo in small room ? 1+2=3

(a) Why is making of anti-viral medicines harder than anti-bacterial medicines ?  2+1=3

(b) How can we prevent exposure to infectious microbes ?

Waves of frequency 100HZ are produced in a string as shown in Fig: Give it’s :
(a) Amplitude (b) Wavelength (c)  Velocity

A

B F
20 cm
B C\/Z\G\/
D H

A\ 4

A person was bitten by a stray dog. After some days his nature gets irritated, he started
fearing water.

(a) Name the disease.
(b) Is there any plan vaccine available ?
(c) Is there any plan of your local authority for the control of this disease ?

Using criss cross method, write the chemical formula of Copper Chloride, Calcium
Sulphate, Sodium Phosphate.

(a) How does the atmosphere act as a blancket ? 2+3=5

(b) Calculate the work done to stop a car of 1500 kg moving at a velocity of 60km/h.
OR
(a) Define Potential Energy ?

(b) Derive an expression for Potential Energy of body of mass ‘m” at a height ‘h’
above surface of earth.

(a) Draw the diagram of Rutherford’s alpha scattering experiment. 2+3=5

(b) What were three observations of this experiment ?
OR

(a) Why the chemical properties of isotopes are same ?

(b) Draw Bohr model for helium atom.

(c) What are the no. of protons, neutrons and electrons in ®*Co ,, and 1% Ag, ?
(a) Draw Carbon Cycle ( any six labellings ).

(b) State two effects of depletion of Ozone layer.
OR
Draw Nitrogen Cycle.
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SECTION - B

The starch staring bodies present in the chloroplast of spirogyra are known as
(a) Zygospores (b)  Pyrenoids
(c) Zoospores (d) Peroxysomes

To observe and compare the pressure exerted by the solid iron cuboid on sand two
students take the different iron cuboid having the same weight but different
dimensions. After performing the experiment

(a) Same conclusions in drawn by them.

(b) Different conclusion are drawn by them.

(c) None of the students draw any conclusion.

(d) Conclusion can be drawn by making the dimension same.

The correct position of the ear of the observer in shown in.

To which group Agaricus belong :
(a) Algae (b)  Fungi
(c) Gymnosperm (d) Angiosperm

The buoyant force acting on a body due to different fluids is :
(a) Different (b) Same
() Zero (d) None of these

In the experiment on studying the laws of reflection of sound the tube facing the clocking
is placed as shown. The position of the second tube at which the ear will get the best

reflected sound is obtained when Q equals.

(c) 400 (d) 500
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The main plant body in moss plant is of :
(a) Gametophyte (b) Sporophyte
(c) May be (a) or (b) (d) Neither (a) nor (b)

The figure below shows a spring balance. The least count of the spring balance is :

2

0 of
20
40
60
80
100
(

You are given solid cubes of aluminium and iron, each of side 4 cm, and two spring
balance A has a range of 0 to 250g and a least count of 2.5g, while balance B has a
range of 0 to 1000g and a least count of 10g. The preferred option for mass measurement
would be to use :

(a) balance A for both the cubes
b) balance B for both the cubes

(
(c) balance A for the aluminium cube and balance B for iron cube.
(

(a) 1gf (b) 2gf c) 200gft (d) 100gf

d) balance A for iron cube and balance B for aluminium cube.

The highest envolved among the following plant groups are :
(a) Bryophytes (b) Angiosperms
(c) Pteridophytes (d) Gymnosperm

The correct experiment set up for determining the mass of a solid in water is shown in

fig.

o $

-
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37. Three students A,B and C determined the volume of a solid by immersing it in waterin 1
the overflow cans set up as shown. The result obtained will be wrong for

0

A B c

(a) Student A (b) Student B () Student C (d) All of these
38. Which part is marked as ‘c’ 1
C
P /
(a) Rhizoids (b) Leaves (c) Capsule (d) Seta
39. In the experiment for determining the velocity of propagation of a pulse in a slinky/ 1

string we prefer a long slinky/string

(a) because pulse cannot be formed in a short slinky/string
(b)  because short slinky/string is cheap.

(c) so that pulse may move through it easily.

(d) So that time taken by pulse to move from one end of slinky/string to other is

more.

40. The plants which have naked seeds belong to the group : 1
(a) Angiosperm (b) Gymnosperm
(c) Algae (d) Fungi
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41. A student notes down the observations in the two string balances and the measuring 1
cylinder as shown in the fig. From the given observations, the volume of the solid

&

€

2

e g

E

(a) Is64cec. (b) Is 36 c.c. (c) Is28c.c. (d) Is 100 c.c.

-00o0-
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o ug - A

@ % S.I A sl TR HifsT
33 TU gUe H Hfea it o1 A fafam
Yot TR g S T & folu Suetsd Tamee o1 § 2
T A YgHh o T el |
3.011 x 1023 SIS WA 1 ZeqHH A A (RS h1 TATY Zeq9H N =14 u ) |
TSl <k <1 T weron fafem)
T T ST TR H G R STEE © 2
(a) A T G 1 07 i R T
(1) o 2) dRE

(b) T T qen el foRe YRR el qim S o @ grEEfd € 2

TR WS & T & HRY fawi |

Ifc TRl TXATY] 1 TeiiehIcoh TRaTehLul gx ?, 1 SHeh! HSiTSIehal, M qAT $H FATSIhAT
R AT |

THIEE! ! Ufereil o | i el W Y (AR ?
T qT 3TUfates e § 3T WY hifoiu |

(a) T T (Green House) THIE I T ?
(b) ST A F e A A 3 A e

qRehe™ HIfST :
(1) 90 g STt U3 i HE& 2) 19 g H,O, Hiedl =t "

Teft, T § 59 fe 2 € (A gR) |

T3hiHe LT 1 S1eh LA o &l A HE-H & 7
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(a) s frel U1 T =1t AT X S S, A S TS Sl a2 2 3
(b) o foim o1 gom R, i ) Fesrfest oot # o R STt 37

yfawaft FIE? DI FW & < &l giaea i &l et ? 3

(a) -SRIt AL T TN ARGt TALAT HT SHMT Hicd Tl § 2 3
(b) T FeTSHforl i T | T | TH 19 IR HY = Fohdl & 7

o o <9 319ER fFEt R | 100 Hz T9fa st o0 Sce 8t &1 F1d hifeig | 3
(a) 3mE™ (b) 1A () o

A

20 cm

3

C
¥ G
AC\/E\/'
D H

e AT i STERT o A el | F3 foHi a1g SHh! Yehid gereT™ areht A T dnag aet g 3
@

(a) =9 AT 1 H IdE |

(b) I W M & foTw g et IuaT € 2

(c) T TH W & FF=101 & TAU Temiar Wit o 919 s A © 2

3T | S fafyr w1 39T sk TErfte o ford : SR FiNEs, hicaam dothe, difeam 3
RS

(a) STATERYT HY HTHC Hi Hifd HE HT 2 5
(b) TH 1500 kg GHM i R S 60km/h o T TAHM T, 1 Ik o fow f7a T v
1 qRehe s |
3T
(a) Teerfast Seit T aRmen <12
(b) Teafas w1 & o =isteh Tenfid IS Afe ‘m’ Fe99H i FE 9% geaft 7 9 ‘b
S WA |

(a) TETHIE % TEHI YhivH JAM & fore fost smea | 5
(b)  TH TINT < 1 Y&Ior R o ?
AT
(a) HHENFERT & TR O HHE T B § 2
(b) Eferad TR & T SeR 1 "ied I |
(c) 5%Co,, e 108Ag, H Ui, <M T Seiai ol HEAT 1 o |
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(a)

T =36 ol 3T o13d (TRl ®8 &1 AHifehd )

(b) 3TN UXd o & B & IS ol YHTel odrgd |
Jrqar
AE2ISH =oh @ 1Y |
Qug -§
TR % BRd Tas § IufEed R @ wE Suferd 2 €, S e € 1
(a) STEEER (b) TS () SR (d) TR

3 @Iz o Y R XA W @ 1 Y& G T hid gq & B 1 FHH IR aifer fafi 1

formreti ot &g o oY T3 | 9 R o IS |

a)
b)
)

(
(
(
(d)

Ik GRT Wk SI91 Tt fHehret T

3R g1 SAAT-37e7 feht fepret T

fordt B 7 g fend 78 fepren

fomreti =1 g W f=hd el S Tk

Al % T 1 Hel fearfd foemht 7§

(@ A (b) B () C d D

T forg onf A grelfra 1
(a) & (b) TS (c) for=regd (d) ufsEred

fafirer gaf & wRor fordt a%g W HE FA ST Scce s Bl S 1
(@) fm (b) wHH © A (d) T 9 RE T
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a1 & T o 19 % TR § TSt o 9 Tl Aot fo ¥ SuiEgar §1 gud Afaw a
fearfa, foad & To@ =8t Wafda saft g a1 §, & faw £ Q &1 7 2w

Wit 3 W9 T Ty R A
(@ TR (b)) EU-SER () (a) W (b) (d) 7@ T D)

= fot § FwAHIGR gen fe@mdt T § | FHMGR g S eTeddd 1Y © |

2
0 of]
20
40
60
80
100
(

IR 3 L= T &le & =1 k! Y& Sl 4 cm © 9901 & HAMRR gai, fores
FHHMER el A 1 T0E 0 9 250 g q1 3Te9dH 1Y 2.5 g, Safh HAMGR gl B 1 WH 0 &
1000 g T 379 |19 10 g B, fad 73 81 goomm HiaA & T stferen sr=e1 foshed &m -

ST ¥ % fAT FAMRR 9 A
b) <Hl = % faT FAMRR o B
c) TUHHfTEE & o1 % ford FHFIGR el A 991 ©ig & o o fordl HHriQr g B
d) TR F = % faw HAHRR g A qe1 Tegfafem & ¥9 & fou SAMRR g B

@) 1gf b) 2gf Q) 200 gf (d) 100 gf

(a)
(b)
(
(

FreAferfad | 9 i o1 ey o wed Sifereh forshfad €2

(a) SEIEES (b) TS (c) <REmmEen (d) for=rens
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36. frdl 3 & il W gegam fruior ¥ @ v o o <wifan T g 1

@ A (b) B (© C (d D

37. TGS 9T 1 YA ik U B A gU S ol T 910 i o fau di9 sl A, BaamC 1
F ot 7 fe@m S8R WM 9 fovan | w9 e 2em :

A B C
(a) BEA (b) BEB (c) BEC (d) S g+t
38. A UM ‘'C' 9 Afwra g 1
C
r
(a) Hem¥ (b) o (c) Sty (d) FThRIfeHET
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TéeTent a1 R & 2R THA LA dTel T 1 9 i e arel w4 § g9 ol féotent /ar s 1
AR <d © ¢

(a) FHifer B RaTahl /R ¥ ¥ T8I o Tt

(b) FHifH DRI et /R Tt Bt T

(c) ifeh SEY TRt TS STTHMT | T L Heh

(d) I wig féetant/aR & T fR § g f a w5 # eifes v o

T ST ol A for ol § grafeed § 2 1
(a) TUfSEEE (b) forreTs CEREIS! d) eTE

ot o e STTHR T B S FHMICR Jenshi qon 7ok fafeie & Jam e w81 f@ w1
T&01 § S T ST ©

(a) 64cc (b) 36cc (¢ 28cc (d) 100 cc
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